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Problem Description

NTRIEIEERENER, BUEFY, MAETRMNS ©, BRUSSH ©, MRS o ZfERILE

BAS ©: ZHEITE—MS, M0®0=0,091=0,190=0,191=1,

BASE o ZHETE—MEs, 000=0,001=1,100=1,1061=0,

¥efisk o: ZHEITE—(f=, B0o0=0,001=1,160=1,161=1,

PE, XNF—ME [0,2F) PEVEES n, NTIBEME, BS/MAWME (0,2%) FHEH o, b, ¢, d, HE:
a®b®cod=n

IR, EERENEFEARRIFEER, BaLUARRRERS:

(a®b)dc)od)=n

Input

FEENWARAB SSEWAEE.
FITTEHTO <T <10), TTEIRAL.

MNF AR, —(TANEH n, k(1 <k <15,0<n<2k),

Output

MTERMENL ¢ 17, BT 1TBERTER.

Sample Input Sample Output
3 48
576
33 2304



